
Sr PL No. Description Unit Stock Stock Value LI/LR-DT WD / DP
1 70907055 DIAMIND DRESSER 4CT D12.5X63 MT1 Nos. 10 7950 22-Sep-23 01-Oct

2 72040658 UNF MACHINE TAP M16 X 1.5 Nos. 14 13480 17-Jun-23 01-Oct
3 72046909 INDEX INSERT KNUX 16 04 15R12 S4 Nos. 66 13943 01-Nov-23 01-Oct

4 72047860 INDEX INSERT VBMT 16 04 08 GC415 Nos. 510 94170 29-Nov-23 01-Oct

5 72070791 UNF SHIM FOR CNMG 190612 Nos. 27 4460 10-Jul-23 01-Oct
6 72090030 UNF CASTORS H D F ST FIXED 

BRACKET 2
Nos. 4 6858 01-Sep-23 01-Oct

7 72090807 HSS HAND TAPS C PITCH M10X1.50 Set 8 9445 14-Aug-23 01-Oct
8 72090960 HSS HAND TAPS C PITCH M16X2.00 Set 5 5591 14-Aug-23 01-Oct
9 72095003 HSS LONG M/CTAP CP TY B M20X2.50 Nos. 10 9981 08-Feb-23 01-Oct

10 72095271 HSS LONG M/CTAP CP TY B M 8X1.25 Nos. 2680 576200 12-Sep-23 01-Oct

11 72095544 M5-TAP SPOON TYPE Nos. 348 79926 05-Sep-23 01-Oct
12 72202774 DRILL TWIST HSS PS 4.50 MM IS 51 Nos. 256 15316 27-Nov-23 01-Oct

13 72208351 DRILL TWIST HSS MT 18.0 MM IS 51 Nos. 70 35813 01-Nov-23 01-Oct

14 72208478 DRILL TWIST HSS MT 21.0 MM IS 51 Nos. 6 5593 10-Jul-23 01-Oct

15 72208510 DRILL TWIST HSS MT 22.0 MM IS 51 Nos. 3 2650 10-Jul-23 01-Oct

16 72210539 UNF CARBIDE INSERT SNMG 190616-
5TK

Nos. 1079 318925 03-May-23 01-Oct

17 72210564 CARBIDE INSERT DNMG 150608 Nos. 32 6043 14-Feb-23 01-Oct
18 72210643 UNF CARBIDE INSERT TNMG 220412-

15
Nos. 500 92959 22-Sep-23 01-Oct

19 72220181 UNF CUTTING NOZZLE SIZE 3/64" Nos. 125 14528 08-Sep-23 01-Oct
20 72350076 FILES FLAT BASTARD 400 MM IS-193 Nos. 51 24228 10-Jul-23 01-Oct

21 72350120 FILES FLAT SECOND CUT 250 MM IS- Nos. 56 6566 08-Feb-23 01-Oct

22 72351196 FILES HALFRD SECOND CUT 250 MM I Nos. 9 2974 24-Apr-23 01-Oct

23 72351380 FILES ROUND BASTARD 350 MM IS.19 Nos. 24 9742 08-Feb-23 01-Oct

24 72387014 HANDLES WOODEN WITH FERRULE 
200M

Nos. 402 2908 25-Oct-23 01-Oct

25 76904854 UNF GAS CUTT TORCH WITH OUT 
NOZ IMC-

Nos. 48 146836 05-May-23 01-Oct

26 83047694 UNF COMPUTER STATIONERY 10X12 
INCHES

Set 100 -64 02-Sep-23 01-Oct

27 83047888 UNF 80 GSM PLAIN COP PAP 850MM X 
100

Nos. 230 267012 27-Sep-23 01-Oct

28 83047890 UNF 80 GSM PLAIN COP PAP 610MM X 
100

Nos. 220 206800 27-Sep-23 01-Oct

29 83047918 UNF PRINT AND SUPPY.OF SALRY SLIP 
10

Nos. 46800 156912 30-Aug-23 01-Oct

30 83048820 CONTINUOUS STATRY 3-PLY-15X12 Set 64499 132866 13-Jun-23 01-Oct
31 83057869 UNF GATE PASS BOOK 225X140MM W-

433
Nos. 549 21356 13-Oct-23 01-Oct

32 83077121 UNF CASUAL LEAVE CARD 285GSM 
170X255

Nos. 11251 23740 19-Sep-23 01-Oct

33 83907269 UNF APPLI FOR LEAVE WHITE COLOUR Nos. 35850 18479 25-Oct-23 01-Oct

34 83907300 UNF DECLARATION FORM Nos. 4078 2699 02-Jan-24 01-Oct
35 84137757 UNF PACKING BOXES OF 

9PLY350X350X430
Nos. 4630 759320 13-Apr-23 01-Oct

36 84137782 UNF PACKING BOXES OF 9 PLY WITH 
GUNN

Nos. 780 115440 13-Apr-23 01-Oct

LIST OF INACTIVE ITEMS FOR ICF:SHELL AS ON 02.01.2025



37 40056302 Fire retardant(FR-LSH) Flexible 5 core-
6 sqmm

MTR 1213 689039 06-Sep-23 02-Oct

38 73041026 OLD HEX HEAD BOLT M12X50-8.8 IS. Kgs. 21 9639 17-Nov-23 02-Oct

39 73041476 HEX HD.BOLT SIZE:M16X100 Nos. 1525 49122 07-Sep-23 02-Oct
40 73041531 UNF HEX HD BOLT M16X130 IS1364-

83
Nos. 2389 73835 07-Nov-23 02-Oct

41 73321990 SPLIT PIN 4 X50MM-IS-549-74 Nos. 830 2938 05-Sep-23 02-Oct
42 73561137 UNF SCREW MS BL HEX HD M12X20 G 

IS 1
Kgs. 874.714 5522 09-Jan-23 02-Oct

43 73854037 PREVAIL TORQUE HEX NUT-M16 Nos. 7180 65632 20-Sep-23 02-Oct
44 70213173 CLOTH EMERY 9X11 IN IS 715-62 GR Nos. 445 8900 14-Aug-23 04-Oct

45 70237037 PAPER SILICON CARBIDE 230X280MM Nos. 1135 8573 14-Nov-23 04-Oct

46 71071969 BRUSH FOR FLOORS CLEANING SSI Nos. 41 7177 13-Dec-23 04-Oct
47 80012693 OIL HYDRAULIC/1000T PRESS IS 309 LTR 7350 543575 06-Jan-23 04-Oct

48 81030174 De Rusting chemical Kgs. 2336 135703 16-Nov-23 04-Oct
49 81030290 PHOSPHATE COATING CHEMICAL LTR 8240 644775 16-Nov-23 04-Oct
50 81030691 PASSIVATOR FOR PHOSPHATE COAT LTR 72 9676 16-Nov-23 04-Oct

51 81035895 De-Greasingchemicals Kgs. 929 69303 16-Nov-23 04-Oct
52 84130258 UNF SEALANT -FORMED-IN-PLACE 

GASKET
Nos. 20 3308 28-Oct-23 04-Oct

53 31111312 CENTRE SILL CHL & FLANGE ANGLE Set 34 1606435 11-Oct-23 05-Oct
54 31111324 SOLE BAR PART FOR MEMU/US/DMC Set 2 73628 25-Sep-23 05-Oct

55 90330407 DIA 40MM ROUND EN1.6582:EN10083 Kgs. 3087.778 551156 21-Nov-23 05-Oct

56 90331011 MS ROUNDS 180 MM DIA Kgs. 4587.545 250021 07-Apr-23 05-Oct
57 90338480 UNF BRIGHT STEEL ROUND 50 MM 

DIA
Kgs. 2309.404 183834 21-Nov-23 05-Oct

58 90350820 FLAT MS 50X5 MM IS 226 FE410-S Kgs. 2340.394 88119 21-Nov-23 05-Oct
59 90818659 UNF S.S COLD ROLLED STRIP WITH 

DEEP
Kgs. 601.747 666749 03-Jan-24 05-Oct

60 90830726 SECONDARY SPRING OUTER-LGS/LSCN Nos. 1482 14905064 01-Sep-23 05-Oct

61 90830775 SPRING BAR-F 15(SECONDARY 
INNER,SIDE-1)

Nos. 74 274538 01-Sep-23 05-Oct

62 90830787 SPRING BAR-F 17(SECONDARY 
INNER,SIDE-2)

Nos. 7 55734 01-Sep-23 05-Oct

63 90830799 SPRING BAR-F 14(SECONDARY 
OUTER,SIDE-1)

Nos. 310 3831219 01-Sep-23 05-Oct

64 90830829 UNF SECONDARY SPRING INNER 
LWACC

Nos. 582 1775515 04-Sep-23 05-Oct

65 90830830 UNF SECONDARY SPRING OUTER 
LWACC

Nos. 717 5926036 01-Sep-23 05-Oct

66 90831378 PEEL SPRING S ROU 47.4 X 4552 Nos. 210 1209180 13-Jul-23 05-Oct
67 90833697 UNF PEEL & CENTRE GRO 

SPRING.S.ROUND
Nos. 234 952454 18-Nov-23 05-Oct

68 31027120 SIDE BEARER HOUSING Nos. 141 36005 13-Jun-23 06-Oct
69 31030282 TRACTION ROD FIXING BRACKET Nos. 72 194688 18-Nov-23 06-Oct
70 31120039 HEAD STOCK SET TRAIN 18 

MC/TC/NDTC
Set 4 1026017 29-Nov-23 08-Oct

71 31140348 DETAILS FOR SIDE WALL COL-II Nos. 611 34829 19-Dec-23 08-Oct
72 31247192 FOOT STEP MOUNTING FOR MEMU/US Set 29 367553 12-Oct-23 08-Oct

73 31260238 S&I CATTLE GUARD FOR 
MEMU/DMC/US

Set 1 35125 09-Aug-23 08-Oct

74 31901566 WIRE ROPE ASSY.ICF/SK-2-90179C1 Nos. 1382 359876 06-Feb-23 08-Oct

75 33570462 UNF EQUALISING STAY FORGED TYPE Nos. 13 38829 25-Aug-23 08-Oct

76 33680190 UNF NUMBER PLATES FOR BOGIE 
BUILTLHB

Nos. 2 475 09-Oct-23 08-Oct



77 62302115 BLACKTUBE 25 MM DIA NOMIBORE MTR 209.8 50009 23-Aug-23 08-Oct
78 75326437 FLAT RUBBER SIZE : 5X60X1400MM Nos. 72 8002 27-Dec-23 08-Oct
79 90423290 35MM STEEL PLATE EN 10025-5 Kgs. 1310.936 98320 08-Dec-23 11-Oct
80 90818611 UNF S.S PLATE 6 X 1250 X 2600 MM Kgs. 22559.74 3997112 19-Apr-23 11-Oct

81 30006119 COMPENSATING RINGS FOR BG & MG 
C

Nos. 747 123404 17-Aug-23 12-Oct

82 30921545 SUPPORT BRACK FOR FLOU LIGHT C-I Nos. 577 75076 07-Dec-23 12-Oct

83 31060122 HEX HD BOLT FOR CENTRE PIVOT ARR Nos. 1204 131686 22-May-23 12-Oct

84 76010454 UNF ELECTRODE 2.5MM X 350MM 
RUTILETY

Nos. 104138 334156 16-Feb-23 12-Oct

85 76018891 ELECTRODE- DIA 2.5MMX350MM, 
RUTILE TYPE

Nos. 13673 18428 01-Feb-23 12-Oct

86 47351299 HY DUTY FOOT SWTICH TY FSGY2 OF Nos. 40 170816 19-Jun-23 51/10

87 66715374 WIREROPE9/16INDIAGLVD182FTLONG MTR 598.5 83300 28-Dec-23 51/10

88 67025079 CLUTCH DISC PNO 0669667-00 Nos. 4 7175 03-Apr-23 51/10
89 67700615 DOUBLE HORN WITH LOW HIGH TONE Set 60 81420 09-Dec-23 51/10

90 67700627 DOUBLEHORN L&H TONE 12VIS1884-
70

Set 17 24797 09-Dec-23 51/10

91 67700925 ELECHORNSINGLE 12V PRESTOL Nos. 12 9159 09-Dec-23 51/10
TOTAL 45194301


